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Topic3 continued ... ) red coin·
# ⑥ A buy has 10 white

and 12 red coins. One
coin

coins

is randomly drawn
from the

bag and discarded (you
dent

put
it back in the bag).

Then a second coin is drawn

and discarded .
Then a third

coin is drawn .
What's the

probability that
the third coin

is red ?
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Answer:

↓
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#
are randomly

⑨ Suppose two
cards

dealt from
a
standard S2-card

deck .

Let B be the event
that both

cards are aces.

Let A be the event that at



least one card is an ace.

Let As be the event that

one of the
cards is an

ace of spades.

(a) Compute
P(B/As)

(b) Compute P(BIA)

-S= (3) = 1326
(a) Use P(BIAs)
=BRA

Elementsin BRAs

⑮ YIB1As = 3#
P(BRAs)=

# (



Elementsin As

#AssP(As) = E
31 possibilities

Answer:

P(BIAs)= = 3/

#howleta



Note that BlA = B ⑭A
-elementsof B

⑮
# IB1 = 6

# or

⑮ & (B1 = (2)
⑮ PCBRA
#

Now let's compute P(A)



# is at least one ace
.

# is no acesterme
the Paces

54

IF1==
pick = 1128

non-ace
cards

So
, P(A) = 1-P(A) = 1-

=

Answer:

P(BIAl=
~


